





### SCHOOL UNIFORMS

The CISB uniform is an important element of school life. We believe the uniform can help to create a sense of community. When worn properly it generates a shared identity among students and can help instill a sense of pride in our school. Having a uniform helps students to focus on their work and activities while at school, rather than their appearance. It encourages positive social interactions among students by building unity rather than a competition about looks. It also makes life a little easier for parents!

Wear your uniform with pride as you represent our amazing community.

CISB has two types of Uniform for Kindergarten to Grade 12 Uniform A (Formal) and Uniform B (Daily).

Students are required to wear a school uniform at all times during the day. The school administration reserves the right to decide if clothing and/or appearance conveys a message contrary to the philosophy of the school uniform code.





## **UNIFORM A**

### Formal dress uniform elements and guidelines

Top: Formal white CISB uniform shirt or blouse. The shirt must be tucked into the trousers. Shirts and blouses may be long or short-sleeved, depending on the weather. Students choosing to wear shirts under their CISB official shirt must take note that all under shirts must be solid white in colour, free of logos.

Bottom: Plaid CISB uniform skirt or grey uniform trousers. Black uniform stocking may be worn with the skirt in cool weather. Skirts must be worn no shorter than the top of the knee. A black belt should be worn with trousers.

Additional Required Items: Tie and CISB blazer.

Footwear: Dress shoes (black preferred). Students are not permitted to wear coloured or other casual shoes with the formal uniform. Black socks should be worn with most types of dress shoes.

## **UNIFORM B**

### Daily uniform elements and guidelines

Top: Formal white uniform shirt or red polo shirt. Shirts and blouses may be long for cold weather or short-sleeved hot weather. Shirts and blouses may be tucked into the pants or skort/skirt or left out in a relaxed look. CISB Hoodies, Athletic Team or Graduate jackets are permitted.

Bottom: Plaid skirt or grey uniform pants. Skirts must be worn no shorter than the top of the knee. Students may wear grey or black stocking in cool weather. Personal leggings with designs or patterns are not permitted. Non-uniform bottoms will not be permitted.

Footwear: Comfortable and tidy shoes are required. Students are not permitted to wear flip-flops, sandals, or high-heeled or open-toed shoes. Footwear should not be too extravagant. Shoes with wheels, lights or sounds are not permitted. Socks should be without designs or patterns on them.

## PRE-SCHOOL

Nursery, Pre-Kindergarten 3 and Pre-Kindergarten 4



### Winter Uniform

Long Sleeve Polo
Long Sweat Pants
Sweats are available in fleece lined

**CISB Hoodie** 





Short Sleeve Polo Shorts



## **ELEMENTARY**

CISB has two types of Uniform for Kindergarten to Grade 5 Uniform A (Formal) and Uniform B (Daily).

Students are required to wear Uniform A on Mondays.

Summer and Winter Uniforms: students can choose based on the weather which uniform they wear.

PHE (Physical Health Education) Uniforms:

Elementary students who have PHE may wear their PHE uniform for the whole day. If students have PHE on Monday do not have to wear Uniform A.

# **UNIFORM A** Elementary Boys - Grades K-5





### **Uniform Details**

Blazer
Tie
Trousers
Long Sleeve Shirt
Short Sleeve Shirt

# **UNIFORM A** Elementary Girls - Grades K-5





### Uniform

Blazer
Skirt
Long Sleeve Shirt
Short Sleeve Shirt

# UNIFORM B Elementary Boys - Grades K-5





### **Uniform Details**

Long Sleeve Shirt Short Sleeve Shirt Red Polo Shirt Trousers Shorts

# **UNIFORM B** Elementary Girls - Grades K-5





### Uniform

Skirt Red Polo Shirt Long Sleeve Blouse Short Sleeve Blouse

## MIDDLE AND HIGH SCHOOL

CISB has two types of Uniform for Grade 6 to Grade 12 Uniform A (Formal) and Uniform B (Daily).

Students are required to wear Uniform A on Mondays.

Summer and Winter Uniforms: students can choose based on the weather which uniform they wear.

PHE (Physical Health Education) Uniforms:

Students who have PHE must bring their PHE uniforms to change into for each PHE class. Students who continuelessly do not bring their PHE uniforms without explanation will be assigned consequences based upon the MSHS student expectation policies.

# UNIFORM A

### Middle/High School Boys - Grades 6-12





### **Uniform Details**

Blazer
Tie
Trousers
Long Sleeve Shirt
Short Sleeve Shirt

# UNIFORM A Middle/High School Girls - Grades 6-12





### Uniform

Blazer Long Sleeve Shirt **Short Sleeve Shirt** 

# **UNIFORM B**

### Middle/High School Boys - Grades 6-12









### **Uniform Details**

Long Sleeve Shirt Short Sleeve Shirt Red Polo Shirt CISB Hoodie Trousers Shorts

# **UNIFORM B**

### Middle/High School Girls - Grades 6-12



### **Uniform Details**

Long Sleeve Shirt Short Sleeve Shirt Red Polo Shirt CISB Hoodie Trousers Shirt







# PHE UNIFORM Whole School Grade K-12



### **Uniform Details**

**Unisex Jacket Unisex Pants Unisex PHE Shirt Unisex PHE Shorts** 



# PRE-SCHOOL

Total: 6 pcs

### Price List - Nursery, Pre-Kindergarten 3 and Pre-Kindergarten 4

No.	Item		Qty	Unit Price	Total Amount
1	Short Sleeve Polo Shirt	短袖Polo上衣	2	85.00	170.00
2	Sweat Shorts	运动短裤	1	85.00	85.00
3	Long Sleeve Polo Shirt	长袖Polo上衣	2	85.00	170.00
4	Sweat Pants	运动长裤	1	85.00	85.00

510.00

# **ELEMENTARY BOYS**

### Price List - Boys Grades K-5

No.	Item		Qty	Unit Price	<b>Total Amount</b>
1	Burgundy Jacket	西服	1	315.00	315.00
2	Tie	<b>领带</b>	1	55.00	55.00
3	Trousers	长裤	1	155.00	155.00
4	Long Sleeve Shirt	男长袖衬衫	2	135.00	270.00
5	Short Sleeve Shirt	男短袖衬衫	2	125.00	250.00
6	Shorts	短裤	1	115.00	115.00
7	Unisex Jacket	长袖运动上衣	1	110.00	110.00
8	Unisex Pants	长袖运动长裤	1	95.00	95.00
9	Unisex PE Shirt		1	100.00	100.00
***************************************		短袖运动半袖	1		
10	Unisex PE Shorts	短袖运动短裤	<u> </u>	85.00	85.00

Total: 12 pcs 1,550.00

# **ELEMENTARY GIRLS**

### Price List - Girls Grades K-5

No.	Item		Qty	Unit Price	Total Amount
1	Burgundy Jacket	西服	1	315.00	315.00
	Burguriay Jacket	247区	1	313.00	313.00
2	Skirt	短裙	1	125.00	125.00
3	Long Sleeve Blouse	女长袖衬衫	2	135.00	270.00
4	Short Sleeve Blouse	女短袖衬衫	2	125.00	250.00
5	Unisex Jacket	长袖运动上衣	1	110.00	110.00
6	Unisex Pants	长袖运动长裤	1	95.00	95.00
7	Unisex PE Shirt	短袖运动半袖	1	100.00	100.00
8	Unisex PE Shorts	短袖运动短裤	1	85.00	85.00

Total: 10 pcs 1,350.00

# MIDDLE / HIGH SCHOOL BOYS

Price List - Boys Grades 6-12

No.	Item		Qty	Unit Price	Total Amount
1	Burgundy Jacket	西服	1	315.00	315.00
2	Tie	领带	1	55.00	55.00
3	Trousers	男长裤	1	155.00	155.00
4	Long Sleeve Shirt	男长袖衬衫	2	135.00	270.00
5	Short Sleeve Shirt	男短袖衬衫	2	125.00	250.00
6	Unisex Jacket	长袖运动上衣	1	110.00	110.00
7	Unisex Pants	长袖运动长裤	1	95.00	95.00
8	Unisex PE Shirt	短袖运动半袖	1	100.00	100.00
9	Unisex PE Shorts	短袖运动短裤	1	85.00	85.00

Total: 11 pcs 1,435.00

# MIDDLE / HIGH SCHOOL GIRLS

Price List - Girls Grades 6-12

No.	Item		Qty	Unit Price	Total Amount
1	Burgundy Jacket	西服	1	315.00	315.00
2	Tie	领带	1	55.00	55.00
3	Skirt	短裙	1	125.00	125.00
4	Long Sleeve Blouse	女长袖衬衫	2	135.00	270.00
5	Short Sleeve Blouse	女短袖衬衫	2	125.00	250.00
6	Unisex Jacket	长袖运动上衣	1	110.00	110.00
7	Unisex Pants	长袖运动长裤	1	95.00	95.00
8	Unisex PE Shirt	短袖运动半袖	1	100.00	100.00
9	Unisex PE Shorts	短袖运动短裤	1	85.00	85.00

Total: 11 pcs 1,405.00

# **UNIFORM SHOP**

Please scan the Uniform Shop QR to purchases and for size charts

**Uniform Shop** 



Contact

